Physics paper I    Class X

1). A dolphin emits an ultrasonic wave with a frequency of 150,000 Hz. The speed of the 
      ultrasonic wave in water is 1500m/s, the wavelength of this wave in water is;
a).0.0001m



SLO # 12.2.1 & 13.3.1
b).0.01m

c).0.1m

d).10m

2). The amplitude and frequency of a sound wave are both increased. How are the  

      loudness and pitch of sound affected;          SLO # 13.1.6
     Loudness

Pitch
a). Increased

Raised

b). Increased

Unchanged

c). Increased

Lowered

d). Decreased

Lowered

3). The table shows examples of transverse and longitudinal waves. Which line in the  

      table is correct;    SLO # 12.2.2
    Transverse waves

Longitudinal waves

a). Sound waves

       Gamma rays

b). Light waves

           X-rays

c). Gamma waves

       Sound waves

d). Sound waves

        Water waves
4). If the metallic bob of a simple pendulum is replaced by another bob of glass of same 

     dimensions then the time period of simple pendulum will be;           SLO # 12.1.3
a). Doubled

b). Reduce to one-fourth

c). Reduce to half
d). Same
5). The power of a lens of focal length 10 cm is;      SLO # 14.7.3
a). 2 dioptre
b). 5 dioptre
c). 10 dioptre
d). 4 dioptre
6). A convex lens form a real image three times as big as object placed at 20cm from it. 
      the focal length of lens is;          SLO # 14.7.2
a). 15 cm

b). 5 cm

c). 20 cm

d). 1.5 cm

7). Snell’s law defines;      SLO # 14.4.1
a). Frequency of light 

b). Light rays

c). Path of a ray

d). Index of refraction of a medium

8). When a ray of light travels from denser to rarer medium;   SLO # 14.4.1
a). It bends away from the normal

b). It bends towards the normal

c). No change in direction
d). It bends twice
9). One ev is equal to;            SLO # 15.4.3
a). 6.25 x 10 18 joule

b). 6.25 x 10 -18 joule

c). 1.6 x 10 -19 joule

d). 62.5 x 10 19 joule 
10). Two capacitors of 6μ F and 12μF are connected in series if a battery of 12 volt is  

        connected across this combination, then the charge stored in each capacitor will be;
        SLO # 15.5.2

a). 4 C

b). 48 μC

c). 4.8 C

d). 4 μ C

11). Two resistances of 6 K Ω and 12 K Ω are connected in parallel. A battery of 6 V is 
       connected across its ends. The current passing from 12 K Ω resistance will be;
       SLO # 16.4.2

a). 0.5 m A

b). 1.5 A

c). 12 A

d). 6 A

12). An electroscope is an instrument which is used for;      SLO # 15.1.2
a). The measurement of potential difference across the conductor

b). The measurement of current flowing from the conductor

c). Detecting and testing the nature of charge on a body

d). The measurement of resistance
13). The diagram below represents the scale on a meter which reads from 0 to 1mA. The  

        reading shown on the diagram is;      SLO # 16.5.1   Fig should be inserted
a). 0.0006 mA

b). 0.06mA

c). 0.0012 mA
d). 0.6 mA
14). In the beginning of January, the reading on an electric meter was 1586 units. It 
       became 2786 units at the end o f the month. If the cost of one unit of electricity is 
       Rs. 4 then the monthly bill of electricity is:      SLO # 16.6.2
a). Rs. 4800
b). Rs. 6000

c). Rs. 1200

d). Rs. 7200

15). A metal bar P— Q hung by a thin thread always comes to rest with end P pointing 

       North. Another bar X — Y of the same metal settles in no definite direction, if the 

       two bars are brought near one another then;                                 SLO # 17.1.1
a). End P attracts end X but repels end Y

b). End P repels end X but attracts end Y

c). End P neither attracts nor repels end Y

d). End P and end Q both attract end X

16). A direct current I flows upward in vertical wire. Which diagram shows the direction   

       and shape of the magnetic field in the region of the wire;                SLO # 17.1.2
a).


     b).                               c).                             d).
17). The function of a mains transformer is to convert;                        SLO # 17.5.4
a). One direct voltage to another direct voltage of different magnitude
b). One alternating voltage to another alternating voltage of different magnitude

c). A high value alternating voltage to a low value direct voltage

d). A low value alternating voltage to a high value direct voltage
18). After radioactive decay, the radium nucleus changes to radon;     SLO# 18.3.1
                       226Ra     →    222 Rn    +   X
        which of the following represents the  X produced; 
a).  A proton
b). A beta particle

c). A neutron

d). An alpha particle

19). The half life of a given radioactive isotope is 15 years. If the original mass of this isotope is 12 gm then after 30 years its mass will be;      SLO # 18.3.2
a). 3.0 gm

b). 6.0 gm

c). 1.2 gm

d). 0.6 gm

20). When a nucleus emit a beta particle, which of the following statement is correct;

         SLO # 18.1.3
a). Its mass number decrease by one and its atomic number remains the same

b). Its mass number increases by one and its atomic number remains the same

c). Its mass number remains the same and its atomic number increases by one

d). There is no change in mass number and atomic number

21). To produce N-type crystal, germanium may be doped with a substance that is;
       SLO # 19.2.1
a). Divalent

b). Trivalent

c). Tetravalent

d). Pentavalent

22). For forward biasing a PN junction, the positive terminal is connected to;

       SLO # 19.2.1

a). P-type crystal

b). N- type crystal

c). Neither P or N type crystal

d). Both N and P type crystal

23). The output of an AND gate is only 1 when;   SLO # 19.3.3
a). Both of its inputs are 0

b). Any one of the two input is 0

c). Both of its inputs are1

d). Anyone of the two inputs is 1

24). The method that is used to communicate information’s to far off places instantly is  

        called;    SLO # 20.2.1
a). Television

b). Information

c). Communication

d). Telecommunication

25). The scientific method, arranging information for proper use and to communicate 

        them to others is called;   SLO # 20.1.1
a). Television

b). Information technology

c). Information

d). Telecommunication

CRQ
Q.1 (a) Define the concept of simple harmonic motion with its characteristics;
SLO # 12.1.1 & 12.1.2                                                                                                                                      

                                                                                                                 (3 marks)
Answer;

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

(b). Differentiate between longitudinal and transverse waves;

       SLO # 12.2.2







       (2 marks)
Answer;

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

CRQ

Q.2 (a) With the help of ray diagram, define the critical angle and total internal 
              reflection of light;    SLO # 14.5.1      


                   (2 marks)
Answer;

b). Give two differences between lens and mirror;   SLO # 14.1.1                 (2 marks)
Answer;

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________
Q.3 (a) Define the following        SLO# 15.3.2



       (2 marks)

         i). Electric field

        ii). Electric intensity

Answer;

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

b). Formulate the units for the following quantities


       (2 marks)
i)   Electric current           SLO # 16.1.1

ii). Potential difference     SLO # 15.4.3
Answer;

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

Q.4 (a) A student was investigating electromagnetic induction by pushing a magnet 
             into a solenoid as shown below                                   SLO # 17.3.2
Fig should be inserted

What would have been observed on the center-zero galvanometer as he;

i). When pushing the magnet into the solenoid;
SLO# 17.5.1


                                  

                                                                                                                                 (1 mark)

Answer;

________________________________________________________________________

________________________________________________________________________

ii). When the magnet is held stationary inside the solenoid;

         (1 mark)

Answer;

________________________________________________________________________

________________________________________________________________________

iii). When pulling the magnet out of the solenoid;
              SLO # 17.3.2


                                                                                                                     (1 mark)
Answer;

________________________________________________________________________

________________________________________________________________________

b). Complete the equation of nuclear fission;

SLO # 18.6.2 
         (1 mark)
     U  +   n   →     Ba    +    Kr   +    n + Energy
c).  Name the three types of nuclear radiation which can be emitted from the  

      radioactive isotopes describe,
i). Which type has the maximum penetrating  power;
SLO # 18.3.1
         (1 mark)

Answer;

________________________________________________________________________

________________________________________________________________________

ii).According to special theory of relativity, establish the relationship between  

     energy and mass;


SLO # 18.5.1



         (1 mark)
Answer;

________________________________________________________________________

________________________________________________________________________

d). Now these days radio isotopes are being used for medical purposes name the  

     radio isotope which is used for the study of thyroid glands  /or / used to curing  

     cancerous tumors and cells;      SLO # 18.4.1



         (1 mark)
Answer;

________________________________________________________________________

________________________________________________________________________

e). Demonstrate the conversion of galvanometer  to voltmeter or an ammeter by   

     using circuit diagram only;                         SLO # 17.5.3

         (1 mark)
Answer;

________________________________________________________________________

________________________________________________________________________

Q.5 (a) A diode is connected in such a way that its anode is at positive voltage during 

            positive half cycle of the input voltage, while during the negative half cycle of  

            input voltage, anode of the diode is at negative voltage State the process and 

            the out put result; 


 SLO # 19.2.5     

       (2 marks)
Answer;

________________________________________________________________________

________________________________________________________________________

b). If  X = A + B  then form the truth table  of the operation;    SLO # 19.3.2
                                                                                                                               (2 marks)
	B
	A
	X

	
	
	

	
	
	

	
	
	

	
	
	


ERQ 
Q.2 What are stationary waves? Identify the formation of loop, nodes and antinodes 

        in stationary waves Also mention the wavelength of wave in terms of nodes and 

        antinodes; SLO # 12.3.1     




                  (5 marks)
OR

       Describe noise, loudness, intensity level, pitch and quality of sound;



SLO # 13.1.6                                                                                 

Answer;

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

ERQ
Q.3 Explain the defects of lenses how these defects can be removed;

       SLO # 14.8.1







       (5 marks)
OR
     Explain the defects of vision and their correction        SLO # 14.9.1
     (Ray diagram also required for defects and their removal)
Answer;

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________
________________________________________________________________________

________________________________________________________________________

ERQ
Q.4 Describe resistance give its units. What do you understand by the term specific 

       resistance? State the effect of temperature on resistance of metallic conductors;
       SLO # 16.4.1







       (5 marks)

OR
    Define capacitor, capacitance and farad. Give the properties of Series or parallel   

    combination of capacitors;    SLO # 15.5.1 & 15.6.1


      (5 marks)

Answer;

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

Practical ERQ







     (10 marks)
Q.  Consider the motion of simple pendulum which completes one vibration in 3 sec.

      Fill up the following grid;

	Length of thread including hook
	Total length of simple pendulum
	
	
	

	80 cm
	81 cm
	
	
	


i). Calculate the time period of simple pendulum;



       (2 marks)
Answer;

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

ii). Calculate the time period of the same pendulum on surface of moon;     (2 marks)
Answer;
________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

